Class-10 + 2
Subject-Sociology
IInd Term Exam 2022
Model Question Paper

Time : 3 hrs M.M. =50

1.

Ttene T 3794 Vg H BT SW < |

The candidates are required to answer in their own words as far as

possible.
T Y9 ok 3ich 38k A feu T E |
Marks allotted to each question are indicated against it.

Me : [t go rfard

Note : All questions are compulsory.

2.

2 3fehl aTel UAT o ST 25-30 W=l H T |

Answer to 2 marks question be given in 25-30 words.

3 3feh] ATl Y1 o ST 50-60 Fsal H ST |

Answer to 3 marks questions be given in 50-60 words.
HIT-h

(TS I )

Part-A (Objective Type Question)
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9T 1%k 15 U § | Frafaiaa ueies w9 1 i o1 €| ATuehT
I forehed fau T , TS0 @ ohael Teh WET T 139§ | Wt
fararey fore |
Question number 1 consists of 15 parts, each of the following ques-

tions carries one mark and given you a choice of four answer out of
which only one is correct, write the correct answer.

1. SepfadhTor o wisher €, frmeh g b f sfa 21 <hi s
319791 377 e fohelt 3= AR U: T ot ST wefd ot agarn
? 1 I8 A fhm et ? 1x15 =15

Who said this, “Sanskritization is the process by which a low Hindu
Caste or Tribal or other group, changes its customs, ritual, ideology
and way of life in the direction of a higher and frequently twice born
caste.

(a) Srinivas ( #fifer®)
(b) Moore (%)
(c) Dube (&)
(d) Yogender Singh (I fag)
2. Uil & Gy fhd GEhRfa d € ?

Westernization is related to which culture ?

(a) American ( 3TH{RA)
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(b) Asian (TfR)

(c) British (fsifesr)

(d) African (3T%eh)

“ 31T TS o SRT WHITSTeh YURT o Y@ guef® o 1" forad
%1 ?

Who said, “ The Arya Samajists were Vigorous advocates of So-
cial Reform”

(a) Dayanand Saraswati ST GL&dt
(b) Bipan Chandra fafta ==

(¢) Govind Ranade T TS

(d) Dhanpati Panday &-9fd 97
T ST WA ol YHRY el 9 g3 ?
From where Panchayati Raj was launched
(a) Jaipur STIYX

(b) Nagore AR

(c) Ajmer 3TSTHR

(d) Delhi feeett
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5.

6.

7.

STeieRT seree fehe <ers ?

Who started Zamindari system ?

(a) Lord Minto (@€ fH=T)

(b) Lord Cornwalis (€ haierd )

(¢) Lord William Bentick (e faferam sifee)

(d) Lord Clive (€ JaTsd )

e ¥ y-Tafie RehTe o Hgl TmE i Y& &el g5
When did land ownership record was started in Himachal ?

(a) 2000-2001 (b) 1999-2000
(c) 2000-2004 (d) 1998-1999

forem et fop R 518 <91 | Sy fieeo &t ifd Sfaa 81 2 |
Who said mechanized agriculture is not good for India ?

(a) Pranab Vardhan (Y019 &)

(b) Crown and Heddy (T3 Td 8€1)

(¢) J.C. Harar (.91 3IR)

(d) Balwant Rai Mehta (Seta1 T Hadl)

TRt tefeereen gar: fd §:

Indian economy is based on
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10.

11.

(a) Agriculture (HfH)

(b) Manufacturing sector (10T &)

(¢) Industry ()

(d) Service Sector (¥dT &)

I T SR G R 2

What is ceiling on consolidation of holding ?

(a) 05 acre to 8 arcr

(b) 10 Acreto 15 Acre
(c) 15 Acre to 20 Acre
(d) 25 Acreto 30 Acre

Modernization of Structures & Societies TTHeh shid foht HiE ?
Who wrote Modernization of Structures Societies ?

(a) Levy (<l

(b) Eisenstadt ( 3ESIS)

(c) Bergal (Sifet)

(d) Anderson (TUSH)

THEH™T THeM ohl €A1 fohl = T 2

Who founded the Rama Krishna Mission ?

(a) Swami Dyanand Saraswati (¥FaTHT SIT= FX&d)
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12.

13.

14.

15.

(b) Swami Vivekanand (FaTHt faaerr—=<)

(c) Raja Ram Mohan Roy (ST Y| HIg 1)

(d) Keshev Chander Sen (h¥Taa= 9+)

T AT T HEEAT YT had o feTt = 31 fhaai & ?
What is the minimum age to get membership of Gram Sabha ?
(a) 21 99 (21 years) (b) 20 ¥ (20 years)

(c) 18 TH (18 years) (d) 24 ¥ (24 years)

739 AU WG hel AR 3T ?

When was 73rd consitutional amendment implemented

(a) 24 April 1993 (b) 15 Aug 1947

(c) 24 April 1994 (d) 26 jan 1950

TR T H IR i el el JE §E

When did Doordarshan service started in India ?

(a) 15 Aug 1965 (b) 26 jan 2000
(c) 15 oct 1959 (d) 15 oct 1932.

NRA § 9o Tgcll 9 HER YheH § g 1 1 9= fohan
T 7

Which language was used for the first time in news publication in
India ?
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(a) TSIGT Gujrati (b) &< Hindi
(c) USTTSI Punjabi (d) 3% Urdu

U9 2. Trefatiaa s sl ug 9 TRIivT o ot | ST ueHi ok

1.
2.

Excpacdl (1x5=15)
R | H&d: I STHR W W led o ol SIieT ST Tehel & |
1. Hifeteh 2. ThEM 3. AT

HfcTeh T YEaTH a1 ufd i el S e | F8T o Grqut i
miferes gt & | i W wfa &=l &1 foan st 81 e =0
FE 1 T Wiferer A1 Tart & o1 o7 € | foram ot &
ST SIS EATHT TAT HRADR B1d © | I T AT HRABR
W T YT W Wt A T | A o IS R g% wdi o
ST Hleh I Sifaeht AT & | A1 o & 3T=id R
Feyeh, f1E FIRAHR qUT FEECR 3 € | WA GuT § Hig
a4 Sl I Ao &9 Fg1 o | §7 dH1 vl § Hifersh
I & STl WA SR W et fqat & Yufd 6 geEn
e 3T © | foram =1 e ot s Widey sifaei @
grafed €, a9 ey 9 g e A eTed A Ty
Sl & rsif-od g1 € |

TRA | Wit ot & diF STUR A A § ?

yufd = e ford wed €1

152



3.
4.
5.

VEATH AT HITARR I I e FLAT & ?

Tifeteh a7t o 3fafd shid & oafe o & 2
AR ... Ao, S & grafod giare | 5

Read the passage carefully and answer the questions given in the end of

the passage.

In India agriculture can be divided mainly on three basis.

1. Owner 2. Farmer 3. Labourer

BN

The owner is called Bhupati or Bhuswami. This class is the owner
of entire land on which agricultural works are carried out. Farmer
or cultivator’s place comes after the owner or Bhuswami, under the
peasant class there are small land owners or tenants. These land
owner or tenants cultivate their land. The third class is of the
labourers, they earn their living by working in the fields. The land-
less farmers, poor tenants and sharecroppers come under the work-
ing class. This is the real form of the agricultural system in Indian
society. In these three classes, under the owner class, the land own-
ers and moneylenders of the upper castes come on the basis of
caste. Farmers or farming classes belong to each caste in traditional
farming and the working class generally belong to the low or un-
touchable or untouchable castes.

What are the three basis of each category of agriculture in India ?

Who is called Bhupati or Bhuswami ?
What job does the landowner do ?

Which persons come under the owner class ?
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Working class generally belongto ............. Of ..o castes.
Part-B
Subjective Type Answers
WA TS TR STIeRLoT o Qrrfsieh iRomd 1 ue ? &8
=R g ferg |

What are the social consequences of Industrialization on Indian so-

ciety ? Write any four consequences. 2
IS R AT hl s R foRIarg sarsii |

Write down any four features of social reform movements. 2
TR0 o e el i fae=mr & |

Discuss determinants of urbanization. 2
o} fedefientor o1 o 31ef © 2

What is the meaning of Secularism ? 2
T TS W 3T I TR § 2

What do you understand by Punchayati Raj? 2

AT ST T IS STl St ANl i SR e |
Discuss the challenges of Panchayati Raj and social transformation. 2

Tehaal W AR feEr ?
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10.

11.

12.

13.

14.

15.

16.

Write a note on consolidation of holdings. 2

Bfkd whif o T SR R 2

What are the main basis of Green Revolution ? 2
fsd GaR N E ?

What is print media ? 2
STTHER % HEF 91 Yo o UgieR &, T i |

Means of Mass media are custodian of our democracy. Explain. 2

Fauh! s<e & s fafey |

Write about Chipko Movement. 2
STHIGRT e i IE faRivarg sarsi |

Discuss the main characteristics of Zaamindari system. 2
SR HHS W 1L fera |

Write a note on Brahma Samaj. 2

YRAeY H S 3T led W Teh A1 fafay )

Write a note on Tribal movement in India. 3

YT
Tferd sTied W Aie fawE)
Write a note on Dalit Movement.

155



